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L Vocabulary: 30%

Choose the answer that would best keep the meaning of the underii
word or phrase.

1. The demise of baseball as our national pastime shows that finesse was
subseryient to aggression,
() superior (b) preferred {e) subordinate (d) indifferant

L&#!hﬂi?i&'ﬁﬁ'ﬁ'ﬁ

2. Newsmen divulged that the President had been considering the idea for some
time before making it public yesterday. :
(a) enguifed (b) summoned {c) revealed (d) maintained

3.  Betram was on the verge of bankruptey.
(a) close to (b) away from
(e) in the middle of (d) beyond the point of

4, The behavior of teenagers is intrinsically complex and implies an elaborate

social system.
(a} brashly (b} inherently (c) disdainfully {d} incidentally

5. Ginny has been sitting there figgeting for an hour,
(a) sewing guietly {b) moving nervously
(c) writing notes {d) talking loudly

6. Miscellanegus subjects will be discussed at the seminar.
{a) Various (b} Same (c) Serious (d) Important

7. The young man acted foolishly in spite of all his father's exhortation.
(a) interference {b) involvement (c) suggestion (d} admonition

8.  He told her the sad truth bluntly.
(a) painfully (b} immediately (c) effectively {d) plainly

9. | tried to call my friend but | couldn't get through.
{a) reach him {b) find him
{c) visit him {d) inform him

10.  Did Marcia get her chores done before she left?
{a)} homework {b) routine dutles  [c) schoolwork (d) responsibilities

11.  Liz bemoans the fact that she has 1o write her paper.
(a) accepts (k) ignores (c) laments (d} lurks



12.

13.

14.

13.

Concerning my college courses next year, I'm ing quandary.

LN 3.2

B

(a) almost sure (b} in a state of certainty

(c) in a state of uncertainty (d) quite sure |
The man has some yaherpent hatred of people who are cruel to animals. i
{a) strange {b) unreascnable (c) strong  (d) irrational
Planning a week-long conference requires mental and physical stamina.

(a) contribution {b) examination (c) courage  (d) strength
He wore his hat askew.

(a) sternly (b) awry (c) meekly  (d) improperly

Structure: 30%
Choose the answer that would best complete the sentence.

It soon became obvious that rmy new roommate without the benefit of

her sterec.

(a} accustomed to study (b) accustomed for studying
(c) was accustomed to study (d) was accustomed to studying
We falthfully read Professor Boggs's article .

(a) about fruit fly (b} on fruit flies

(e} with fruit fiy (d) in fruit flies

On Wednesday, the professor will give .

(a) unusual lecture (b) 2 unusual lecture

(c) an unusual lecture (d) an unusual lectures

He inherited his Volkswagen from his brother ____. for at least ten years.
(a) which had been driven (b) that had driven

(c) who drove il (d) who had driven it

_____ should we ask for, once we get to the clinic?
{a) Which {b) Whose (c) Who (d) Whom

Margaret Ann is much _____. of my twe cousins
(a) sympathetic {b) more sympathetc
{c) the more sympathetic (d) most sympathetic
The cost of my automobile insurance would have been reduced if my car
. air bags.
-{a) has been equipped by (b) would have been equipped by
(c) could be equipping with (d) had been equipped with
A erowd of men, women, and children lined the streets, . could catch a
gimpse of the Queen. .
(a) hoping that they (h) to hope them

(¢} heping that it (d) to hope it




9. Somewhat ____ _, the buok about Navajo Indian traditions and religious
customs includes poetic beauty and grandeur.,

(a) surprise (b} surprised {¢) surprising {d) surprisingly
—
10. __ Dad had told us for the third time to go to bed, we tumed ﬂf‘fthﬂ_?
television and dragged the sleeping bags from the closet. -
(a) When  (b) After (c) Though (d) Before ﬁ
11.  Upon accuracy _____ vour grades in writing. F K
(a) depend  (b) depends (c) is depending {d) would depend | &
12.  The evidence that they submitted to the judges _____ convincing. &
(a) was (b) were (c) has been (d) have been e
134, _____ consumers know about the prices and the gquality of progucts.
{a) Well-informing (b) Well informed
{c) Well-informed (d) Well informing
14. French is language.
(a) a rather popular (b)) a popular fairly
(c) fairly popular (d) popular somewhat
15.  Although gymnastics had a long history, not until recently _____ become
popular.

{a) it did (b) they did (c) did it (d) did they

li. Reading Comprehension: 20%

Read the following passages and choose the best answer to each
question.

Passage 1

The primary constituent of the atmasphera that we need to consider is carbon
dioxide, Carbon dioxide acts somewhat like the glass in a greenhouse in that it readily
gllows incoming visible light from the Sun to pass through to the swface of the
Earth, but it does not allow infrared radiation to pass as readily.

Ag fossil fuels (oil, coal, and natural gas) are bumed on Earth, large
amounts of carbon dioxide are released into our atmosphere. This, of course, causes
the atmosphere to retaln more heat by virtue of the greenhouse effect. The 10
percent increase in the amount of atmospheric carbon dioxide in the last 30 years
could lead to drastic changes in world climate. if the average global temperature
should rise by only 2 degrees C, this would be sufficlent to melt the polar ice caps,
thus causing flooding and the destruction of many coastal areas, and a raduction of
already low crop vyields in tropical and subtropical countries. The jury Is still out as
to whether or not a runaway greenhouse effect is indeed in control of this planet.

1. A "runaway""” effect is what people ______.
{a) can control (h) can't control
(c) may bear {d) may not bear



Z. A rise in temperature will _____.

(a) cause flooding (b) produce carbon dioxide

(c) burn fossil fuels (d) make polar ice caps E

3. Which of the following titles is the best for this passage? .
(a) The Greenhouse Effect  (b) World Climate el

(c) Global Temperature (d) Carbon Dioxide e

F
4, Infrared radiation comes from _____ . L
(a} the glass (b) the Earth B

(c) the Sun (d) the atmosphere 2

;f'.'

3. Which of the following ideas is "NOT" found in the passage?
(a) The visible light is absorbed at the surface of the Earth.
(b) Tropical countries produce less and less crop.
(¢) Drastic changes in world climate are studied.
(d) Gil and coal release carbon dioxide in buming.

Passage £

Numerous coping techniques have been created in recent years to teach pecple
how Lo be stress-resistant and how to combat worry, Corporations pay large sums of
money for stressmanagement programs. People are taught time-management and
relaxation; social skills; meditation; the Quieting Response.

Many theorists and therapists say that the heart of the problem of stress and
Wworry is negative cognitions—meaning negative thoughts, images, and perceptions-
-and that therefore stress management must begin with techniques that combat
negative cognitions. By confronting negative thoughts, images, and perceptions, it is
possible to counter stress and the stress response, and self-perpetuating worry is
stopped. Viktor Frankl survived the extreme stress by controlling his cognitions,
Michael Rosenbaum emphasized that self-regulation of cognitions is the first skill
necessary for learned resourcefuiness,

6. Stress-management programs are organized by ____ .

(a) companies (b} pecple  (c) theorists {d) Viktor Frankl
7. To "counter™ stress is to .

{a) attack it (b) accept it (c) change it (d) handle it
B. Meditation can be used 10 ___.

(a) make negalive iimages (b) form resourcefulness

(c} deal with worry {d} manage social skills

9. Which of the following statements is "TRUE"" according 1o the passage?
(a) Relaxation is a kind of self-regulation.
(b) Rosenbaum tried to control cognitions against stress.
(c) Stress managemenit focuses on perceptions only.
(d) Negative thoughts cause worry.



10.

V.

Which of the following ideas is "FOUND"" in the passage? -
(a) Cognitive coping ekille are veary popular, 3
(b) Most people have experienced stressful reaction. &
(c) A lot of people join the stress-management programs. |J§C
(d) Therapists cope with stress with various techniques. | E

L
Translation: 20% |
Translate the following sentences into English. [i
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Answer Sheet

Vocabulary: 30%
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